Ansuser Kid

Geometry/Trig Name G
Unit b Review Packet Date Block |
For #1 -4, a and b are segment lengths; x and y are angle measurements.
1) Figure is a Parallelogram 2) Figureis a Square
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5. If TR=2xand RN =5x-9, thenx=__| ‘
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9) ABCD is a Rectangle

10) ABCD is a Square

A B A B
A B : :
H 10D
K 80 o0
b c D C D c
AC=x®, BD=x+72 mZDAB = 4x + 4y m/DAB = 15y - 35
2 . mZADC = 8x - 4y m£ZADC = 80
5\,‘ = Xt /4 Uyt Yy = 90 m'ADCB = 20X
X*-x~13 =D v i q 20x=10C
§X- Gy =10 rul
li X 1;"‘)@ Yy X "g { ;_g _ﬁiukl — ) 8 U
0 ¢ | Ax= {0 AT
K=, A~ U o \Gy- %Y - “—‘t
J X =15 P
Eﬁwﬁﬂﬁﬁ
( . J 0 o
SR C TSI B R
- Uy= 95U - - s
x=_C \ﬂjj 7.6 ¥F /-5 ye_1

11) ABCD is a Rhombus
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13) @CD isa Trdpezoid,
EF is the median
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14) ABCD is an Isosceles
Trapezoid, EF is the

median
B
AB=8x-2
EF=3x+7
DC-3><+6
x+b

2%t [ = ,,x:

| i

At
A

X L
Xt 4§

D e m—
s
T




15) The figure is a Rhombus.
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16) ABCD is a Square. Solve for x and y.
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17) ABCD is a Rectangle [BD = 8x + 3 and
EC = Bx],
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19) Rhombus [mZABC = 78°] T
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21) The figure is a Rectangle.
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20)ABCD is an Isosceles Trapezoid. Solve for
x and the angle measurements.
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22) Iden'rlfy The five ways to prove a quadrlla‘rer‘al is a parallelogram.
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23) Complete the proof. ;

Given: ABCD is a parallelogram; CD = CE

Prove: ZA=ZE A

Statements Reasons
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25) Complete the proof.

Given: ABCD is a parallelogram
Prove: AABC = ACDA
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25) Classify each figure as specifically as you can based on the markings on the diagram.
Your choices are - quadrilateral, parallelogram, rhombus, rectangle, square, or trapezoid.
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29) TfRS = 2x + 3, then AC= X t o,

30) If AB = 14y - 10, then TS =
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31) TFRT = 122- 8, thenBS = 20

32) Name all triangles congruent to ABRS.

ARAT, ASTC, ATSR

33) If the perimeter of ARST = 12, find the perimeter of AABC.




